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Question Number : 1 Question Id : 2549896606 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a system tool in Windows?
Options :

1. ®* MS-Word

2. ¥ Disk defragmenter

3. * WinZip

4. % QOracle

Question Number : 1 Question Id : 2549896606 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



ﬁyﬁ@raﬁqumdowswwmﬂ@%?
Options :

|. % THTY G (MS Word)

2. ¢ {5 SR (Disk defragmenter)

3. % fqATT (WinZip)

4. % 3R&d (Oracle)

Question Number : 2 Question Id : 2549897800 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Select the odd option.

Options :

1. ¥ RAM

2. ¥ ROM

3. #¥ Cache

4. ¥ SATA

Question Number : 2 Question Id : 2549897800 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

3T fdh ey BT I HifoTy |
Options :

1. ¥ RAM

2. ¥ ROM

3. % %QT(Cache)

4. % SATA

Question Number : 3 Question Id : 2549898885 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is the smallest unit of the computer memory?

Options :



1. ¥ Bit

2. % Byte

3. % Megabyte
4. % Terabyte

Question Number : 3 Question Id : 2549898885 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Fraffad 3§ § eH-df Huger A0 B 9ol 31 318 32
Options :

1. foe

2. % §[3c

3. % TATEEC

4. % ERC

Question Number : 4 Question Id : 2549898912 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a part of system software?

Options :

1. ¥ Spreadsheets

2. % Assemblers

3. % Compilers

4. % System utilities

Question Number : 4 Question Id : 2549898912 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fFofied & O ®1H-91, ReH SitRedwR &1 4T 8! 82

Options :

1. ¢ Wefle (Spreadsheets)



2. % 3[ATER (Assemblers)
3. % HUISR (Compilers)
4. % R¥eH geferdIS (System utilities)

Question Number : 5 Question Id : 2549899349 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

recognises different handwriting styles and fonts and can take them from various types of forms and physical documents.
Options :
1. ¢ Intelligent character recognition (ICR)
2. % Calculator
3. # Microsoft Paint

4. % Microsoft Word

Question Number : 5 Question Id : 2549899349 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

faftsr geaora Qferat 3R Wive Ugadl & 3R I AfHT UhR & YUl 3R Hifde gxaraell ¥ & Iohdi g |

Options :

1. ¢ 3caiioie dacy ReieH (1cR)
2. % HAPAR

3. % OEHNIFR U

4. % ASHUE I8

Question Number : 6 Question Id : 25498911563 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following groups has only output devices?

Options :

1. # Scanner, Printer and Monitor

2. % Keyboard, Printer and Monitor



3. ® Mouse, Printer and Monitor

4. % Plotter, Printer and Monitor

Question Number : 6 Question Id : 25498911563 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

frafefed & 9 forg Tg o Fad sM3eye fSagy 82

Options :

1. % R, iR SR Al
2. % Pidrs, fiiex 3R AR
3. % A3, fliex SR AR
4. ¢ @R, fliex 3R AR

Question Number : 7 Question Id : 25498919045 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Name Box in MS-Excel displays the cell of an active cell.

Options :

1. % address

2. % text

3. % link

4. % control

Question Number : 7 Question Id : 25498919045 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

@w-ua@a (MS-Excel) H 11 diog (Name Box) Udh i I & Id P qaﬁh DIl %I

Options :

1. ¥ Ug¥
2. % Re
3. % foip



4. % dHld

Question Number : 8 Question Id : 25498922567 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a function in Microsoft Excel 2019?

Options :

1. ¥ MIN

2. % MAX

3. % SUM

4. % ALT

Question Number : 8 Question Id : 25498922567 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fafeiad 7 @ - 91, THTI-Ta—d 2019 (MS-Excel 2019) H T Ta=H -8 82
Options :

1. % MIN

2. % MAX

3. % SUM

4. ALT

Question Number : 9 Question Id : 25498929861 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

is the barcode that is popularly used for encoding ISBN numbers on book covers.

Options :

1. #* Uniform Product Code (UPC)
2. % Code 39

3. % POSTNET

4. % Bookland EAN



Question Number : 9 Question Id : 25498929861 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

I8 IRPIS & o] SUIANT T HaR TR ISBN 76R ThIS H o [0l A0 =0 J fhar A g

Options :

1. % gHhIH Mede ®Is (UPC)
2. % HI 39

3. % OIee (POSTNET)

4. HAS EAN

Question Number : 10 Question Id : 25498930076 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Facebook was developed by .

Options :

1. % Mark Zuckerberg

2. # John Napier

3. % Blaise Pascal

4. % Eyan Williams

Question Number : 10 Question Id : 25498930076 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

BAg® (Facebook) BT fadmr GRI fobar T T |

Options :

1. ¥ AT JHIE
2. % S AR

3. % Sivl URd

4. % 3q faferawy

Question Number : 11 Question Id : 25498930311 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



How many companies have formed the Blu-ray Disc Association?
Options :

1. * Five

2. % Six

3. % Seven

4. % Nine

Question Number : 11 Question Id : 25498930311 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

forat ufal 3 =13 e TORUeE &1 64 fhar g2

Options :
1. % Ufg
2. % Bo
3. % YId
4.0

Question Number : 12 Question Id : 25498930899 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The range from cells Al to C6 in MS-Excel is represented as

Options :

1. % A1:C7

2. % Al:C1

3. % Al1:C6

4. % AT:.C7

Question Number : 12 Question Id : 25498930899 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

THEY-UHA (MS-Excel) § T Al T C6 TP P 391 DI & 0§ g S ]l

Options :



1. ¥ A1:C7
2. % Al:Cl
3. ¥ Al1:C6
4. ® A7:C7

Question Number : 13 Question Id : 25498931012 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Digital signature refers to which of the following?

Options :

1. ¥ Process of that guarantees that the contents of a message have not been altered in transit.

2. % The process by which two devices initiate communications.

3. ¥ An attack meant to shut down a machine or network.

4. % A certificate that binds users to an entity.

Question Number : 13 Question Id : 25498931012 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

feforea geaer foread Heifdd &2

Options :

1. ¢ T UfhdT I8 TR St 6 R & SR Tex ! favg-avg § 13 uiad =g fbar T g1
2. % 98 Ufehar fo% gRT & fSasd WaR SRy a5 |

3. % folt o= a1 Acadh &l 98 HRA & o fovam am gHer |

4. % Tep YAV S SUTARTH AT &l fhdf sb1e A Shedr g

Question Number : 14 Question Id : 25498931060 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The computer provides a tool in the education system known as

Options :

1. #® Correction Based Education

2. % Concept Based Education



3. % Calculation Based Education
4. ¥ Computer Based Education

Question Number : 14 Question Id : 25498931060 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

e ol § HueR, A% A UG BT G|
Options :

1. ® JUR 3T TR FR1& (Correction Based Education)

2. % JAYRUT YT AT (Concept Based Education)
3. % UM STYTRG fRI&T (Calculation Based Education)
4. W e fRrem (Computer Based Education)

Question Number : 15 Question Id : 25498931443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The print speed of a dot-matrix printer is measured in

Options :

1. # pages per minute

2. ¥ characters per second

3. % characters per inch

4. % pages per second

Question Number : 15 Question Id : 25498931443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Sle-Afeay filer @t fife fa # ot ot B
Options :

1. % U9 Ufd fiFe

2. ¢ PaR Ufd T s

3. % PR ufd g9




4. % UG Ufd b8

Question Number : 16 Question Id : 2549898890 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The term' ' refers to the way in which various nodes of a computer network are linked together.
Options :

1. ¥ Topology

2. % Junction

3. % Connectors

4. % Data

Question Number : 16 Question Id : 2549898890 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

' ' Teq, Y deb T Ffd el & RO $aer Aedd & Rt gy T 91U I3 B1d 7

Options :

1. ¢ TSt
2. % SR
3. % PAded
4. % g2l

Question Number : 17 Question Id : 2549899528 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following networks is concerned with the exchange of information in the vicinity of a person that involves wireless transmission of data
between devices, for the purpose of either transmission of data or for information?

Options :

1. ¥ MAN
2. % LAN
3. ¥ PAN
4. % WAN



Question Number : 17 Question Id : 2549899528 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

frafafad # 9 S1F- A1 Jeaw ford! afad & U J a1 & SeM-UeH ¥ Yaitd g, forad fSarssl & dffg Se1 &1 araRe™ ¥aR gid1 7, foraa
3EXT 14l ST I1 Y1 &1 TaR gl 82

Options :

1. % MAN

2. % LAN

3.+ PAN

4. % WAN

Question Number : 18 Question Id : 2549899613 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the indicator of an HP printer is blinking or is orange, then it means that there is:
Options :

1. * an issue of paper jam

2. * an issue with printing status

3. % an issue with the toner or configuration settings

4, % no issue

Question Number : 18 Question Id : 2549899613 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

gfe HPp fiiex &1 Yhde i B TgT 8 a1 AR JT o1 8, ) 5961 3 31 g2

Options :
1. % TR OTH &1 GoT

2. % flifdT weq o aon
3. ¢ TR 91 HIBIRYA AT H IaT
4. % PIs IO ol




Question Number : 19 Question Id : 25498910871 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following statements related to MS-PowerPoint 2019 is/are true?

(1) Slide Sorter view displays all the slides in your presentation in horizontally sequenced thumbnails.
(i1) Reading View is like Slide Show view, except that it is a window rather than the entire screen filled.

Options :

1. % Only (i)

2. % Only (i)

3. ¢ Both (i) and (ii)
4. % Neither (i) nor (ii)

Question Number : 19 Question Id : 25498910871 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

THUY-UTRYTST 2019 ( MS-PowerPoint 2019) T Tafdd FAufeiad & § oH- W &y 94 82

(i) Slide Sorter view 3T Uoiexq & Tt Wy oI &fdet srIH A Ye—d # ueRid #ar gl
(i1) Reading View, Slide Showviewﬁ?ﬂ?@?ﬂ%,WW%W@WWW%WW%@ﬁ@W%l

Options :

1. % odd (i)

2. % Had (ii)

3. ¢ (i) 3fR (ii) Gl

4. % T (i) MR A (i)

Question Number : 20 Question Id : 25498911236 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a part of a microphone?

Options :

1. # Sheet feeder

2. * Bridge constructor



3. # Filter adaptor
4. ¥ Diaphragm

Question Number : 20 Question Id : 25498911236 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

FufaRad & A o9 1 AIgh B BT Th HIT 22
Options :

1. ¥ Tftc WIEX (Sheet feeder)

2. % foIol H¥CFR (Bridge constructor)
3. % flheey 3P I (Filter adaptor)
4. ¢ SN (Diaphragm)

Question Number : 21 Question Id : 25498913446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following type of file uses .PNG extension?

Options :

1. % Web images

2. % Audio recording

3. # Video recording

4. ¥ Raster image

Question Number : 21 Question Id : 25498913446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

U A A 59 UPR &1 BI5d & .PNG TRICTH BT IUANT il 82

Options :

1. % 99 gHIY

2. % 3fifsar RepitaT
3. % difegl Rapifen




4. ¥ R AN

Question Number : 22 Question Id : 25498913510 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The file extension is used when a small file size is more important than maximum image quality.
Options :

1. * bmp

2. % swf

3.9 jpeg

4. % png

Question Number : 22 Question Id : 25498913510 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

TTSe YGRS T SUTIT ad fohaT SITaT & O1d Th B1eT WISd STBR (THTT) ATRbdH S (FH) e F e Agayuf giar 2|

Options :
1. * bmp

2. % swf

3.9 jpeg
4. % png

Question Number : 23 Question Id : 25498913848 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In computer science, a hash collision is a random match in hash values that occurs when a hashing algorithm produces the
Options :

1. # dissimilar keys for dissimilar messages

2. * two different keys for different message

3. % two separate messages produce the same hash value

4. % same hash value for two distinct pieces of data.



Question Number : 23 Question Id : 25498913848 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

HeR fagH , 8 PITYA (hash collision) 8 AFI H U Arefade M § Sl 99 8IdT & 9Id Udh &1 TENREH RICECEGIE

Options :

1. % g TRt o fo e ol

2. % iy dex o forw & et pforl

3. % g fiT Yx 90 g% 7 30 Hd §
4.+ 3 faf¥re Ser i & fore gume g2 /M

Question Number : 24 Question Id : 25498918513 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is not a valid group of slide show tab in MS-PowerPoint 2019?

Options :

1. * Start Slide Show group

2. % Set up group

3. # Monitors group

4. % Show group

Question Number : 24 Question Id : 25498918513 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fgfaRad =) ﬁ??ﬂ, @W—melg—d 2019 (MS-PowerPoint 2019) H slide show ¢d T aY dHe 7‘|€[ %‘?
Options :

1. % W Tss M g (Start Slide Show group)

2. % 9T 3{U g (Set up group)

3. % HHeR I8 (Monitor group)

4. Qﬁﬂ’ﬁ:ﬁ' (Show group)

Question Number : 25 Question Id : 25498922660 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



On an IDE hard disk, which of the following jumper setting is used when here are two drives on the IDE subsystem and the other drive’s jumpers are set to
Slave, or if this is the only drive on the subsystem and it doesn’t have a separate Single setting?

Options :

1. * Single
2. ¥ Master
3. % Slave

4. ® Cable Select

Question Number : 25 Question Id : 25498922660 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

U% IDE BTs 5% R, gfafed & § foorg s If &1 SuanT a9 fooar SI1aT 8 916 IDE YaRied IR &l §13d 81 3R 370 318d & SR, Slave TR
Y g, 71 T I8 YaRReH WR ThHT $15d 81 3R $UH 37  Bis e A= 8l

Options :

1. % T3 (Single)

2. % HIXCX (Master)

3. % W(Slave)

4. % Hgd Yaae (Cable Select)

Question Number : 26 Question Id : 25498924086 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following statements related to MS-Excel 2019 is/are FALSE?

(1) A circular reference is any reference within a formula that depends upon the results of that formula.
(11) '#NULLerror' refers to an incorrect range operator in a formula.

Options :

1. % (i) only

2. % (ii) only

3. % Both (i) and (ii)
4. * Neither (i) nor (ii)



Question Number : 26 Question Id : 25498924086 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

THUH-TRIT 2019 (MS-Excel 2019) ¥ Tafid Fafafad & § ®H- 91wy 7Tad 82

@) WWW (circular reference) foait W@ﬁ Eﬁ'sf Wﬁfﬂ?ﬂ% S Wtb—ﬂﬁ & gRRomHAl IR iR W\’_CIT%I
(if) "¥NULLerror' BTHA H TTad 391 3TIRER P T fifd el g

Options :

1. % 5dd (i)

2. ¥ $Had (ii)

3. % (4) 3R (if) AT

4. % A1 (i) MR AR (i)

Question Number : 27 Question Id : 25498924316 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following Animation groups in MS-Excel 2019 helps trigger an animation effect to start when you click the shape or the object that will be
animated?

Options :

1. #* Animation Preview group
2. %# Animation group

3. ¥ Animation Timing group

4. % Advanced Animation group

Question Number : 27 Question Id : 25498924316 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

THUY-URIT 2019 ( MS-Excel 2019) & fARfIREd & ¥ HH- T Animation JU, TAACS & o aTel! fardt sepfa o sifssiae W s dva IR THRRH
THTG &1 Y= DR 8 TGE BT 67

Options :

|, % UfAORH Eﬂalﬂﬂ:é (Animation Preview group)

2. % Qﬁﬁmw (Animation group)

3. % THARE ersfH YHg (Animation Timing group)




4. ¥ USdiks Qﬁlﬂ?ﬂ JHg (Advanced Animation group)

Question Number : 28 Question Id : 25498924461 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Windows 10 features a search box in the taskbar, which facilitates:

Options :

1. # browsing the web only

2. % browsing your computer only

3. ¥ browsing the server

4. ¥ browsing both your computer and the web

Question Number : 28 Question Id : 25498924461 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

381 10 (Windows 10) H TRHIR & U I diaq §, S gfaet ve BT |2
Options :

1. % Pad 99 FIR/AT

2. % HAd Y HYLR T3

3. % R TIR/AT

4. T SR 3R 39 I STIR/AT

Question Number : 29 Question Id : 25498924596 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following types of file uses the HST extension in Windows?

Options :

1. # Image

2. ¢ History

3. % Audio

4. % Compressed archive



Question Number : 29 Question Id : 25498924596 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Windows # 79 & ¥ 59 YR &) BIed §, HST TaHC M BT SYTNT gidT 82

Options :

1. % A (Image)

2.9 %@j (History)

3. % IS (Audio)

4. ® HURS ATHIZT (Compressed archive)

Question Number : 30 Question Id : 25498940437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following charts in MS-Excel 2019 contains the columns sorted in descending order as well as a line representing the cumulative total
percentage?

Options :

1. # Waterfall chart
2. % Pareto chart

3. % Histogram chart

4. ®* Sunburst chart

Question Number : 30 Question Id : 25498940437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

a@_c'ng!%-wa 2019 (MS-Excel 2019) ¥ fAafcifad & ¥ forg a1¢ #, SiaRig! 6 H U HHdw HiaH o A1d Jadt $d Ufa<id FRefud & arel U e Hf
?

Options :

1. % GleTBId aTe (Waterfall chart)
2.« W= (Pareto chart)

3. % R A (Histogram chart)
4. % FASE TTC (Sunburst chart)



Question Number : 31 Question Id : 2549896987 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A junk email is also called a:

Options :

1. % spam

2. % spoof

3. % cookie crumb

4. % sniffer script

Question Number : 31 Question Id : 2549896987 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Sl $-Ad DI 3 T 1 I ST Il 82
Options :

1. WA (spam)

2. % W (Spoof)

3. % WW (cookie crumb)

4. % TR [y (sniffer script)

Question Number : 32 Question Id : 2549899074 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
facilitates online payment of direct taxes by taxpayers.
Options :
1. ¥ e-Payment
2. % e-Sales
3. % e-Marketing
4, % e-Field

Question Number : 32 Question Id : 2549899074 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



FREIATS GRT U BRI b SIS YA BT AL Y& dal g |
Options :

1. ¥ 30fc (e-Payment)

2. % g—@a (e-Sales)

3. % G (e-Marketing)
4. % TIPS (e-Field)

Question Number : 33 Question Id : 2549899162 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A is a search tool that sends user requests to several other search engines and/or databases and aggregates the results into a single list or displays
them according to their source.

Options :

1. # spam

2. ¥ meta search engine
3. % hit

4. % gpider

Question Number : 33 Question Id : 2549899162 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

TSI A ¢ ol SUTNTHA &b SFRIE Bl B3 3T T o1 AR/ SeTadl o! Nordl g 3R URUTHI &1 Thd et H ThiAd HRdl § a1 31
3% A1 & AR YGRId BT 8|

Options :

1. = 1\-'El'lz[(spam)

2.9 ﬁ?’[?ﬁfsﬁ:{ (meta search engine)

3. % 8¢ (hit)

4. % WSS (spider)

Question Number : 34 Question Id : 25498911051 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Which of the following is NOT the main aspect of font style?
Options :

1. % Size

2. % Shape

3. % Weight

4. ¥ Pixels

Question Number : 34 Question Id : 25498911051 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fFafefad & @ &9 wi< Qeh (font style) T BT q%q:lﬁ %?
Options :

1. % 3fIhR (Size)

2. % 3{TPHId (Shape)

3. # 9ol (Weight)

4. ¢ TURIT (Pixels)

Question Number : 35 Question Id : 25498913341 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What do you understand by tabs in MS-Word?

Options :

1. % Tabs are not embedded in the text of your document.

2. ¥ Tabs are hidden formatting characters, which are similar to space characters.

3. % Tabs are hidden formatting characters, but they are not similar to space characters.

4. % Tabs are viewable formatting characters.

Question Number : 35 Question Id : 25498913341 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

THTY-TS (MS-Word) H s (tabs) T 310 &1 JHIIA 82

Options :



1. % TF 3MUP SIHHT P CRE T TS 51 81d !

2. ¢ o GU U BIHIST hRac 8Id &, Sl T hydeyd & JH 8Id & |

3. % oY QU §UBIHIT hRaer BId g, i1 d WY Phracd & JHM gl oid |
4. % G TY-U (viewable) BIHICT BRI Bl & |

Question Number : 36 Question Id : 25498919181 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The tab in MS-Word 2019 is the default tab which appears when you open the application.

Options :

1. % Insert

2. ¥ Home

3. # View

4. % Data

Question Number : 36 Question Id : 25498919181 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

THTI-TS 2019 (MS-Word 2019) H TRIH A e T 39, i S wU f fRwrs Tar |
Options :

1. * Insert

2. ¥ Home

3. # View

4. % Data

Question Number : 37 Question Id : 25498919212 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

To create a new MS-Word 2019 document, press

Options :

1. % Ctrl + A

2. % Cul+C



3.9 Ctrl + N
4. % Ctrl +8S

Question Number : 37 Question Id : 25498919212 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

T THEY-TS 2019 (MS-Word 2019) SIaIH< &1 & g, qn|
Options :

1. % Ctrl + A

2. % Crl+C

3.¢ Ctrl + N

4. % Ctrl + S

Question Number : 38 Question Id : 25498923973 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following technologies allows for transmission of data, voice and video files via a computer or any other wireless enabled device?
Options :

1. #* Dip technology

2. * Pop technology

3. % SIMM technology

4. ¥ Mobile computing

Question Number : 38 Question Id : 25498923973 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

frafafad # 9 o O ae-ie e a1 fhdl 3 araRey vel fS$arsq & mey § Sel, aio™ 3R difSa BiEal & TR &1 3rHfd ot 82

Options :

1. % f&U CHIarSH
2. % Uy TSI
3. % SIMM CaHIdlSt




4. ¢ WA ST

Question Number : 39 Question Id : 25498925236 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The TCP/IP model does NOT have the , but the OSI model has this layer.

Options :

1. # application layer

2. * network layer

3. % session layer

4. % transport layer

Question Number : 39 Question Id : 25498925236 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A3t (Tep/ip) Aisd H g gicit, AT STHSME (0SI) Hisd H I8 TR gl g
Options :

1. % UQTpeE TR

2. % JTadh WR

3. ¢ YA WR

4. % THUIE AR

Question Number : 40 Question Id : 25498925268 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an internet service provider (ISP)?

Options :

1. ¥ MTNL

2. % Airtel

3. % Google

4. % BSNL



Question Number : 40 Question Id : 25498925268 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

frafifad § § B gexae ¥a1 verdr (1sp) e 82
Options :

1. ¥ MTNL

2. % Airtel

3. % Google

4. % BSNL

Question Number : 41 Question Id : 25498925332 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Raghu is working on a document in MS-Word 2019, whose page size was 8.5 inches x 11 inches and, after applying the , the page size changed to 11
inches x 8.5 inches.

Options :
1. * page setup
2. % orientation
3. * lines

4, % columns

Question Number : 41 Question Id : 25498925332 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

TG THUH-FS 2019 (MS-Word 2019) T T SIRAT TR HTH TR 81 8, SAGI YT MBPR 8.5 5Tx 11 SAYISR AR HA & 9IG, JF BT 3MHR
11 $9 x 8.5 39 81 71|

Options :

1. % U7 9e3(y (page setup)

2. ¢ 3fRUCTH (orientation)

3. % I (lines)

4, % W(columns)




Question Number : 42 Question Id : 25498933792 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
The term 'Internet' stands for

Options :

1. * inner network

2. ¥ interconnected network
3. % inter network

4. % internal network

Question Number : 42 Question Id : 25498933792 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

'?;??el_c" (Internet) RWeq DI arerd % I

Options :

l. % IR A<D

2. ¢ SPICS edD
3. % g Acad

4. % e Hcad

Question Number : 43 Question Id : 25498938409 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A 1s a group of related webpages that contain information.

Options :

1. ¥ website

2. ¥ web crawler

3. * web address

4. % web browser

Question Number : 43 Question Id : 25498938409 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



, G Aol T U T & o e R} Aieig gl 21

Options :

1. J941SC

Question Number : 44 Question Id : 25498942486 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

To move one cell to the right in an MS-Excel 2019 spreadsheet, which of the following keys is used?

Options :

1. #* Down arrow key or Enter key

2. % Up arrow key

3. % Left arrow key

4. ¥ Right arrow key or Tab key

Question Number : 44 Question Id : 25498942486 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

THUY-TRI 2019 (MS-Excel 2019) TSefie & Te Id &1 qTs 3R & OH & forg, Fufeiad & & forg $oit &1 SuainT fasa Sirdn 82

Options :

1. % SIS W DI YT TR Bl
2. % YW Dt

3. % QU W &I

4. ¢ JZC W DI YT ¢d Bt

Question Number : 45 Question Id : 25498942490 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In MS-Excel 2019, the button on the Home tab can be used directly for auto-summation of values from cells.

Options :



1. % SUM

2. % AutoSum (})
3. % PRODUCT
4. % ADD

Question Number : 45 Question Id : 25498942490 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

THTY-UFH 2019 (MS-Excel 2019) &, Home &8 TR e &1 ITANT WS I T HH & Wd: T & fore fovar S gpan 3|
Options :

1. % SUM

2. % AutoSum (})

3. % PRODUCT

4. ¥ ADD

Question Number : 46 Question Id : 25498942506 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard shortcut is used to move to the first cell in the upper-left corner of selected table in Ms-Excel 2019?
Options :

1. % Ctrl + Home

2. % Ctrl + Right arrow key

3. % Ctrl + End

4. % Ctrl + Left arrow key

Question Number : 46 Question Id : 25498942506 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

THTY-URIT 2019 (MS-Excel 2019) & Igd AT & SHURI-8T8 HH H Ugd I TR 9H & forg Fyfoiad # 9 forg sieie Wicae o1 S fear
S 8

Options :

1. % Ctrl + Home




2. ® Ctrl + Right arrow key
3. % Ctrl + End

4. % Ctrl + Left arrow key

Question Number : 47 Question Id : 25498942510 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard shortcuts is used to open an already saved MS-Excel workbook?
Options :

l. % Ctul+S

2. % Ctrl +N

3.9 Cul + O

4. % Ctrl +V

Question Number : 47 Question Id : 25498942510 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fafiied § 9 - AT P1EIS Wche Uga F Tl 7Y THEY - Tod adhgd (MS-Excel workbook) B Bl & foTT SUNT farat SiTdT 82

Options :

1. % Ctrl +S
2. % Cul +N
3.9 Cul + O
4. % Ctrl +V

Question Number : 48 Question Id : 25498942529 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following types of chart/graph is used for representing the data that is arranged only in one column or row on a worksheet?
Options :

1. ¥ Pie chart

2. * Bar chart

3. % Line graph



4. # Column graph

Question Number : 48 Question Id : 25498942529 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

i & 9 g UeR & T¢Ik BT SUINT gh e IR had Uk bidd I Ufad § Iafyd ST ! <RI & fore fvar srar g2

Options :

1. ¥ U8 T (Pie chart)

2. % gRAC (Bar chart)

3. % I TP (Line graph)

4. % DHIAH UTH (Column graph)

Question Number : 49 Question Id : 25498942531 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following displays the page number and number of words in an MS-Word document?
Options :

1. #* Display bar

2. % Status bar

3. % Title bar

4. % Ruler

Question Number : 49 Question Id : 25498942531 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

frafied o ¥ ®F-91, THTY-a8 (MS-Word) SIagH< H U§ TAT 3R sl &1 T UeRid el g2

Options :

1. % feTd R
2. ¢ W TR
3. % TRCA IR
4, % TW



Question Number : 50 Question Id : 25498942535 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In MS-Excel 2019, the function key is used to insert a chart.

Options :

1. ¥ Fll1

2. % F2

3. % F4

4. % F5

Question Number : 50 Question Id : 25498942535 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

THTH-TRIA 2019 (MS-Excel 2019) T, AT¢ Ufdte H=A & fag TR ol &1 SUANT favdl SITa 8 |
Options :

1.+ F11

2. % F2

3. % F4

4. % F5

Question Number : 51 Question Id : 25498942551 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Decimal 23 can be represented in binary as

Options :

1. ¥ 10111

2. % 11111

3. % 11110

4. % 11101

Question Number : 51 Question Id : 25498942551 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

GRAd 23 P IR H & U H a1 o1 bl 5 |
Options :

1.9 10111

2. % 11111

3. % 11110

4. % 11101

Question Number : 52 Question Id : 25498942555 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

is/are used to record the sequence of mouse clicks and keyboard strokes for repeating or automation in MS Office applications.
Options :

1. # References
2. % Micro
3. % Macro
4. % Table

Question Number : 52 Question Id : 25498942555 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

mmﬁ:{?ﬂ@w&ﬂﬁmms Office) URIHRMI | Qe & foT I1 WaTeH & fo1g AT3Y fode SR Plals Kb & 3ghH i Rabls A &
SIS

Options :

1. % YHUg (References)
2. % W(Micro)

3. ¢ T (Macro)

4. % A (Table)

READING COMPREHENSION



Section Id : 2549898471
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 5

Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898512
Question Shuffling Allowed : No

Question Id : 25498921343 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (53 to 57)
Read the given passage and answer the questions that follow.

My walkabouts

All my life I have been a walking person. Up to this day, I have neither owned nor driven a car, bus, tractor, airplane, motorcycle, truck or steamroller.

Forced to make a choice I would drive a steam-roller because of its slow but solid progress. And also because other vehicles don’t try pushing steamrollers
off the road.

For a brief period, in my early teens, I had a bicycle which I used to ride until one day, I rammed into a bullock cart and ruined my new cycle. The bullocks
panicked and ran away with the cart while the furious cart driver was giving me a lecture on road sense.

My earliest memories are of a place called Jamnagar. My father was a tutor to several Indian princes and princesses. This was where my walking really
began because Jamnagar was full of spacious palaces, lawns and gardens. By the time I was four, I was exploring much of this territory on my own. It was
then that I encountered my first snake. Instead of striking me, it allowed me to pass. Living so close to the ground and sensitive to every movement, it must
have known that I presented no threat.

Walking along a nearby beach, collecting seashells, I had got into the habit of staring hard at the ground while walking. This habit has remained with me all
my life. It has resulted in my picking up odd objects — coins, keys, marbles, broken bangles, pens, pretty stones, feathers, ladybirds! Looking at my
collections my friends insist that I must be using a metal detector. But it is only because I keep my nose to the ground.



Sometimes, my habit results in my walking some way past my destination. And why not? It simply means discovering a new and different destination, sights
and sounds I would have missed if I had gone exactly where I was supposed to go. And I am not looking at the ground all the time. I look up from time to
time to notice the faces of the passers-by.

Sub questions

Question Number : 53 Question Id : 25498921344 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If given a choice, what would the narrator have driven?

Options :

1. % Airplane

2. % Bullock cart

3. % Cycle

4. % Steamroller

Question Number : 54 Question Id : 25498921345 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

How did the cart driver feel after the accident?

Options :

1. ¥ Amused

2. ¥ Angry

3. # Pleased

4. % Sad

Question Number : 55 Question Id : 25498921346 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is FALSE?

Options :

1. # The snake posed no threat to the boy.

2. % A snake can sense vibrations in the ground.

3. % The boy posed no threat to the snake.
4. % The boy and the snake were scared of each other.



Question Number : 56 Question Id : 25498921347 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The narrator is NOT in the habit of:

Options :

1. * looking at the ground while walking

2. % carrying a metal detector with him

3. % picking up objects from the ground

4. % walking along the beach collecting seashells

Question Number : 57 Question Id : 25498921348 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What does the passage tell us about the narrator?

Options :

1. # He is fond of driving.

2. % He is fond of snakes.

3. % He is fond of adventure.

4. % He is fond of Jamnagar.

Question Id : 25498921343 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (53 to 57)

faQ TTQ I 1 U 3R ISP MUR W U & IR S |
TRI T8

™R YR ofla & SR H U Tga- alel safad e g | 311l o, H 9 oY fordll &R, 519, TaeR, 8aT8 SleTdl, HicuTsied, T a1 WIHRITR &1 HIfeid &1 §
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Sub questions

Question Number : 53 Question Id : 25498921344 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

gl s [deed fear giaT dl HUTHR ford Faran
Options :

1. % gaTs Siglal

2. % qeTIS

3. % grsfdd

4. ¢ THIAR

Question Number : 54 Question Id : 25498921345 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

gHcl & §IG ST A - Hdl 3Yd faan
Options :

1. % Udd

2. DIfdd




3. % G-
4. % ggt

Question Number : 55 Question Id : 25498921346 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

T Q DIH-91 HYF TAd 82

Options :

1. % g, AP & o I3 Wl 7ol a1
2. % Jig oA & HU- T IR IHhd g
3. % TSPI, iU & fou B WaRT 8! 971
4. ASHT 3R 0 U GO I S Y 3|

Question Number : 56 Question Id : 25498921347 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

HYHR P 3Ted H 1 A ol 82

Options :

1. % IId IHY THH TR ST

2. I 1Y Uh YT FScdex o ST

3. % S Y a3l Bl ISHI

4. % g5 d¢ & fbR Cgald gU MUl Shg! el

Question Number : 57 Question Id : 25498921348 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

TR 80 HUTHR & TR H T FaTdl 87

Options :

1. % g8 TSI I BT B g
2. % g8 91Ul ST MDA B

3. ¢ GE AR BT WP g

4. % T8 TR ST MDA B



QUANTITATIVE APTITUDE

Section Id : 2549898472
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898513
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498928871 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The ratio of the speeds of a car, a jeep and a tractor is 3 : 5 : 2. The speed of the jeep is 250% the speed of the tractor, which covers 360 km in 12 hours.
What is the average speed of the car and jeep together?

Options :

1. ¥ 60 km/hr
2. % 75 km/hr
3. % 40 km/hr

4. % Cannot be determined

Question Number : 58 Question Id : 25498928871 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

THh R, Td oi10 3R TH ¢aex HI a1 BT AT 3 : 5 : 2 8| S DI A1 ¢dex B! a1 DI 250% 8, SN 12 G H 360 km DI Gl 09 Bl g | HR 3R
ST 1 3 AT et 82

Options :




1. % 60 km/hr
2. % 75 km/hr
3. #® 40 km/hr
4. % 1A 81 fopdT ST Hehdll

Question Number : 59 Question Id : 25498928942 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The total of the ages of Amar, Akbar and Anthony is 80 years. What was the total of their ages three years ago?

Options :

1. ¥ 71 years

2. % 72 years

3. % 74 years

4. % 77 years

Question Number : 59 Question Id : 25498928942 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

3R, AHaR 3R TYH &1 Hd 3T 80 TN g | I I8 Ugdl 39! ol 3 fram o

Options :

1.¥ 7138
2. % 7299
3. % 7499
4. % 7799

Question Number : 60 Question Id : 25498929014 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



What approximate value will come in place of question mark (?) in the given question?

(You are not expected to calculate the exact value.)

0.98% of 7824 + 4842+ 11946 -7=T78
Options :
1. % 30

7 #% 60
3« 40

4 % 50

Question Number : 60 Question Id : 25498929014 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

U U Oy O Uy g (2) & RIF WR AT STHTT T T2
(SO T HIF B 70T SOMRa T8l 8)

0.98% of 7824 + 4842 = 119.46- ? =78
Options :

1. % 30

2. % 60

3.9 40

4. % 50

Question Number : 61 Question Id : 25498929115 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



A mixture contains spirit and water in ratio 5 : 3. The mixture contains 6 litres more spirit than water. What is the total quantity of the mixture?
Options :

1. % 21 Litres

2. % 22 Litres

3. % 23 Litres

4. % 24 Litres

Question Number : 61 Question Id : 25498929115 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

U Hyyor B fBre SR Ut o1 3urd 5 : 3 31 frsor & ot &t ga | fB1e 6 diter sifties g 1 e &Y o 7 frat 82

Options :

1. % 2] AR
2. % 22 dleR
3. % 23 7leR
4. ¢ 24 IR

Question Number : 62 Question Id : 25498929455 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A man covers % of his journey at 60 km/hour, next i of the journey at 30 km/'hour and the rest at 10 km/hour. If x

km/hour is the average speed for the whole journey, then the distance (in km). he can cover in 3% hours with this
average speed, Is:
Options :

1. % 60

7 o 70

3 % 80



4 % 84

Question Number : 62 Question Id : 25498929455 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

wmmvﬂmsﬁmmémsn Km!hnurﬁ'ﬁﬁ'@]ﬂﬂ%%?ﬂ Km/hour T TTeT & o2T 19 $T9T 10 Km/hour
T AT & T FIAT £ x Ke/hour T 2T 7 3 a1 8, 7 30 i ey § 3¢ 3 - 58 Frael g (km ) 1

X FHAT 87
Options :
1. % 60

2.v 70
3 80

4. % 84

Question Number : 63 Question Id : 25498929463 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Two solid right circular cones of height 4.1 cm and 4.3 ¢cm having the same base radius 2.1 cm are melted and recast

into a sphere. The surface area (in cm?) of the sphere is:
Options :
% 441w

) % 8.82m



;. % 132371

4w 17641

Question Number : 63 Question Id : 25498929463 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

4.1 cm 3R 4.3 cm G TS 1A &1 319 AT WP D! THIHM YR AT 2.1 em &, B! fUEee U6 Md & &9 § SIa 11 g | M &1 g8

aa'fb_v[ (cm2 fl) WT@TIT‘?

Options :

I.* 441 m

2. % 8821

3. % 13.23m

4.4 1764

GENERAL MENTAL ABILITY AND REASONING

Section Id : 2549898473
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
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Maximum Instruction Time : 0
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Question Number : 64 Question Id : 25498910150 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Select the option that is related to the third word in the same way as the second word is related to the first word.

Jungle : Zoo :: Sea : ?
Options :

1. ¥ Aquarium

2. % Harbor

3. % Water

4. % Fishery

Question Number : 64 Question Id : 25498910150 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¢ ABAR
2. % QU8
3. % gHI
4. % AIID!

Question Number : 65 Question Id : 25498912931 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If each of the 12 numbers on a watch is replaced by English vowels a, e, i, 0, u in sequence (1 by a, 2 by e ..., 5 by u, 6 by a, and so on), the hour hand will
be between which pair of vowels at 9:30 a.m.?

Options :
1. * aande
2. % eand i

3. % jand o



4. % oandu

Question Number : 65 Question Id : 25498912931 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Options :

. % a3iRe
2. % @ 3R
3.% i 3Ro
4.9 0 3R u

Question Number : 66 Question Id : 25498918998 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Select the word from the options that is similar to the given set of words and hence belongs to the same group.

Jute : Cotton : Wool
Options :

1. #* Tyrolean

2. % Silk

3. % Rayon

4. % Nylon

Question Number : 66 Question Id : 25498918998 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Options :

1. % CRRIH
2. ¥ M




3, % e
4. % 9rgAE

Question Number : 67 Question Id : 25498919895 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and one is different. Select the one that is different.

Options :

1. ¥ Physics

2. % Chemistry

3. % Geography

4. % Botany

Question Number : 67 Question Id : 25498919895 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Options :

1. % Yifae fagme
2. % g fage

3. ¢ Y
4. % gugfq fagm

Question Number : 68 Question Id : 25498939951 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

This question consists of six statements followed by options consisting of three statements put together in a specific order. Select the option that indicates a
valid argument containing logically related statements, that is, where the third statement is a conclusion drawn from the preceding two statements.

A: Some abra are dabra.
B: All abra are cabra.

C: All dabra are abra.

D: All dabra are not abra.



E: Some cabra are abra.
F: Some cabra are dabra.

Options :
1. % ABD
2. % AEF
3. % BCD
4. % BCF

Question Number : 68 Question Id : 25498939951 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Options :
1. %# ABD
2. % AEF
3. % BCD
4. % BCF

A
B:
C
D:
E

Question Number : 69 Question Id : 25498940002 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and one is different. Select the one that is different.
Options :

1. #* Brisk

2. #* Nimble



3. * Swift
4. % Clumsy

Question Number : 69 Question Id : 25498940002 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks :
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Options :

1. % T (Brisk)

2. % a9 (Nimble)
3. % faw (Swift)
4. % YgT (Clumsy)
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Question Number : 70 Question Id : 2549895344 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Haldia refinery is located in:

GENERAL AWARENESS

2549898474
5

Online
Mandatory

2549898515
Yes



Options :

1. ¥ West Bengal

2. % Bihar

3. % Andhra Pradesh
4. % QOdisha

Question Number : 70 Question Id : 2549895344 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

gfeear RuwTgRY gl fRud g2

Options :

1. ¢ UfgH &

2. % R

3. % Sy U

4. % 3fifsam

Question Number : 71 Question Id : 25498912790 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In which sports did Rajyavardhan Rathore win a Silver medal in the Beijing Olympics?

Options :

1. ¥ Boxing

2. % Shooting

3. % Kho-Kho

4. % Billiards

Question Number : 71 Question Id : 25498912790 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
ST St & TsaaeH ISR A by T # I97d Uad Sitar

Options :

1. % gadbareil



2.
3. % @A
4. % fferady

Question Number : 72 Question Id : 25498932018 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Who among the following is the creator of the Rock Garden in Chandigarh?

Options :

1. # Le Corbousier

2. % Pupul Jayakar

3. % Nek Chand

4. % Kamaladevi Chattopadhyay

Question Number : 72 Question Id : 25498932018 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

frafaRad o 9 foram 9EhTe | b e &t WA B2
Options :

1. % o HIgforg

2. % YU STgBR

3. A% dq

4. % HUAIGA! Ig ™

Question Number : 73 Question Id : 25498932097 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Who among the following was designated as the ‘Person of the Year’ by Time magazine in 2019?

Options :

1. % Jeff Bezos

2. % Elon Musk

3. ¥ Donald Trump



4. ¥ Greta Thunberg

Question Number : 73 Question Id : 25498932097 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
fFofared & 9 f5d 2019 T <150 Uf®T §RT ORIF i1 & SaR' 1 foodm T 4T

Options :

1. % 9t ooy
2. % TAT A
3. % SHIeS ¢l
4. ¢ 2T YA

Question Number : 74 Question Id : 25498933623 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

By which Amendment Act were the fundamental duties of citizens included in the Constitution of India?

Options :

1. ¢ 42" Amendment Act

2. % 44" Amendment Act

3. % 56™ Amendment Act

4. % 734 Amendment Act

Question Number : 74 Question Id : 25498933623 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
YR & HfaY & AR & Wi dboedl 1 [ WRiee iffaw gRT 2nfia fasar

Options :

1. ¢ 42 g G=Me Sy
2. ¥ 44 9F IuNeH Sfffaw
3. % 569 gRNY ATy
4. % 73 qf IR0y AT



Question Number : 75 Question Id : 25498935896 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following alkaline earth metals is used in the manufacture of aeroplane parts?

Options :

1. % Se

2. % Ca

3.9 Mg

4. # Be

Question Number : 75 Question Id : 25498935896 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
frofoiad & 3 fore &Mk gaT U1g &1 IUaNT §aTs STgTsl & U o fafor o fosar S g2

Options :

1. % Se

2. % Ca

3.9 Mg

4. % Be

English Mock

Group Number : 2
Group Id : 2549895309
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English Mock

Section Id : 2549898475
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Section type : Typing Test
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Number of Questions to be attempted : 1

Section Marks : 0
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Sub-Section Number : 1
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Question Shuffling Allowed : No

Is Section Default? : Yes

Question Number : 76 Question Id : 25498946188 Question Type : TYPING TEST Display Question Number : Yes Calculator : None

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork, socializing,
decision making, independent and responsible living and more. It aids the overall development of a child and children have fun during this process
as they get to explore new arenas.
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Section Id : 2549898476

Section Number : 1

Section type : Typing Test
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Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 0

Display Number Panel : Yes

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 2549898517

Question Shuffling Allowed : No

Is Section Default? : Yes

Question Number : 77 Question Id : 25498942566 Question Type : TYPING TEST Display Question Number : Yes Calculator : None

We all know that exercise is important in our daily lives. But we may not know why or what exercise can do for us. It is important to remember
that we have evolved from nomadic ancestors who spent all their time moving around in search of food and shelter. They also travelled large
distances on a daily basis. Our bodies are designed and have evolved to be regularly active. In the same way that a sports car is designed to go fast
we are designed to move. If the sports car is taken out once a week for a three mile round trip through a town centre then it would probably
develop engine problems fairly quickly. Over time people too develop problems if they sit down all day at a desk or in front of the TV and minimise
the amount of exercise they do. There are many benefits of regular exercise. Exercise increases energy levels. Exercise improves both the strength
and the efficiency of your cardiovascular system to get the oxygen and nutrients to your muscles. When your cardiovascular system works better



everything seems easier and you have more energy for the fun stuff in life. Exercise improves muscle strength. Staying active keeps muscles strong.
It keeps joints and tendons and ligaments flexible. It allows you to move more easily and avoid injury. Strong muscles and ligaments reduce your
risk of joint and lower back pain by keeping joints in proper alignment. They also improve coordination and balance. Exercise can help you to
maintain a healthy weight. The more calories are burnt by exercising more. You develop more muscle. Your metabolic rate becomes higher and so
you burn more calories. You may lose weight and look better physically which will boost your self esteem. Exercise improves brain function.
Exercise increases blood flow and oxygen levels in the brain. It also encourages the release of the brain chemicals that are responsible for the
production of cells in the hippocampus. This part of the brain that controls memory and learning. In turn boosts concentration levels and cognitive
ability. It also helps in reducing the risk of cognitive degenerative diseases such as Alzheimer. Exercise is good for your heart. Exercise reduces bad
cholesterol and increases the good cholesterol. Exercising also reduces blood pressure so it lowers the stress on your heart. It also strengthens your
heart muscle. Exercising combined with a healthy diet lowers the risk of developing coronary heart disease. Regular exercise lowers your risk of
developing type two diabetes. Regular exercise helps to control blood glucose levels. It helps to prevent or delay the onset of type two diabetes.
Exercise enhances your immune system. Exercise improves the ability of your body ability to pump the oxygen and nutrients around your body
that are required to fuel the cells that fight bacteria and viruses. Staying active reduces the likelihood of developing some degenerative bone
diseases. Weight bearing exercise such as running or walking or weight training lowers your risk of both osteoarthritis and osteoporosis. Exercise
may help to reduce the risk of certain cancers. Being fit may mean that the risks of colon cancer and breast cancer is reduced. It also reduces the
risk of lung and endometrial cancers. According to studies cancer deaths are linked to being overweight and sedentary.
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